6 BBEEH (135E5)
(1) 2FERISEHDHDREHR

SH6 & S5 5 HiEE R E (%)
B EER GEHR B8 REHR GER| 4% RER GEH 68 REHR EEK
€ = #| 639 17 705 683 13| 736] -44 4 3164 308 42
® B = & 10 12 9 1 11 1 -1 1] 11.1 -100.0 | 9.1
ERE (%) 16 17 13 77 15

F WEBRI UAEAES ERENSEEASG. ) UE. Ao, KEHYORKIZLHLEHEM LTFRL. )
(2) BfE Bl FE AR5

4 4
N 3 A 3
0 0~2 | 2~4 | 4~6 | 6~8 |8~10 10~1212!1414!1616!1818!2020~2222~24 0
EEEFEH| 0 0 0 0 0 0 0 0 0 0 0
—o— {134 1 2 1 1 3 0 0 0 0 2 )
(3) ERMIRAIFEAE KRR
X4 L6 F S5 E 1835 3 R (%)
ek  EEHK BER 4% EER SER] 4 RER HER 4% EER HER
% H £ F & 10 12 9 1 11 1 o 1] 11.1.-100.0 9.1
M 5 4 5 3 3 1 2 333 66.7
% 0 i 1 1 -1 -1 -100.0 -100.0
= &t 4 5 4 4 1 25.0
1 E (%) 40.0 417 444 36.4
X E &R 4 5 1 2 3 3 1300.0 150.0
5 — 7 1 1 1 1
BE ®K = 1 1 4 1 5 -3 -1 -4 | -75.0 [-100.0 | -80.0
4) EHERAFELEKRR
X4 Si6 4 S5 & HEIE A IR (%)
B RER GER HHR  RER GER]| G RER GER A  REHR EER
B2 EH% 10 12 9 1 11 1 -1 1] 11.1-100.0 9.1
INEES E] 1 1 1 1
BEEXE®R 1 1 1 1
E @& % 1 1 1 2 -1 -50.0
BB z 3 4 2 4 1 50.0
MR L EE 3 4 3 3 1 33.3
MAE £
Ez o i 1 1 -1 -1 -100.0 -100.0
it 7 9 7 10 -1 -10.0
EERR 1 1 2 1 1 -1 B -50.0 [-100.0
3l =
(5) LEFAFBEKR
=4 S 6 F S5 EF 1R R (%)
LEEH FEN SER SBEY TEN SEN |25 BEYN SEH 45y BER 5EH
B2 E & 10 12 9 1 11 1 o 1 11.1 -1000 9.1
E F & 2 3 2 2 1 50.0
5 ® & 1 1 -1 -1 -100.0 -100.0
Z n 8 9 6 1 8 2 -1 1 33.3 -100.0 12.5
(6) LEHBEHFEARKRNR
=4 S 6 F S5 EF 1R R (%)
LEEH REN SER SBEY TEN SEN |25 REY SEH 45y BER 5EH
BB £ E & 10 12 9 1 11 1 o 1 11.1 -1000 9.1
E] S 8 10 8 11 -1 -9.1
= # = 2 2 1 1 1 -1 2 1 100.0 |-100.0
8 & B




